MANATEE COUNTY GOVERNMENT INTENT TO AWARD

SUBJECT	Braden Avenue to General Spaatz Blvd., Fiber Optic Interconnect Cable, JPA FM#432208-1-58-01	DATE POSTED	MC 8 25/14 ~ SE DS 8 25/14 ~ SE CC 8 25/14 ~ SE
PURCHASING REPRESENTATIVE	Olga Valcich, Ext 3055	DATE CONTRACT SHALL BE AWARDED	
DEPARTMENT	Public Works Department	CONSEQUENCES IF DEFERRED	47/17/11
SOLICITATION	IFB #14-1291-OV	AUTHORIZED BY DATE	Mini W. Wellow Melissa Wendel August, 25, ,2014
	NOTICE OF INTE	NT TO AWARD	
	Invitation for Bid #14-1291-OV #432208-1-58-01 to the lowest		

Interconnect Cable, JPA FM#432208-1-58-01 to the lowest responsive, responsible bidder, Traffic Control Products of Florida, Inc.,5514 Cormack Road, Tampa, FL 33610 for a total base bid of \$153,106.69 for a completion time of 150 calendar days.

ENABLING/REGULATING AUTHORITY

Federal/State law(s), administrative ruling(s), Manatee County Comp Plan/Land Development Code, ordinances, resolutions, policy.

Manatee County Code of Laws

BACKGROUND/DISCUSSION

This project is a Joint Participation Agreement (JPA, FM#432208-1-58-01) between the FDOT and Manatee County for Redundant fiber optic connection Manatee/Sarasota County Regional ATMS.

The Work included in this project consists of the installation of fiber optic cable in conduit by directional boring, installation of pull boxes including an above ground fiber optic termination cabinet. This project is located at US 41 (Tamiami Trail) from General Spaatz Boulevard to Braden Avenue, approximately one (1) mile.

Appropriate Bid procedures were followed. Notice of Bid availability was advertised on mymanatee.org, DemandStar and the Manatee Chamber of Commerce.

Background discussion continued on Page 2.

ATTACHMENTS (List in order of attached)	Department and JPA Recommendation Tabulation	FUNDING SOURCE (Acct Number & Name)	Funds verified – Acct. Code 1010020708- 534000 / Transportation Operations and FDOT JPA FM#432208-1-58-01
COST	\$153,106.69	AMT/FREQ OF RECURRING COSTS (Attach Fiscal Impact Statement)	

MEMORANDUM

To: From:	Melissa M. Wendel, CPPO, Purchasing Official Jeff Streitmatter III, P. E., Project Management Division Manager	Manatee County
Date:	July 31, 2014	
Subject:	ITS Cable Interconnect From Bradenton Ave. to Gen Spatz Blvd.	eral
	Traffic Control Products of Florida Inc.	
	Recommendation for Award – IFB#14-1291-OV	

18.6

The bids for the above referenced project have been reviewed by staff. The bid tabulation form is attached for your review. It is recommended that the contract with a construction time of 150 days be awarded to the lowest responsive, responsible bidder, Traffic Control Products of Florida Inc. in the amount of \$153,106.69 and in accordance with the terms and conditions of the bid package. Upon completion of project award, please provide a copy of the purchase order assigned to the contractor. The funding source for this contract is Transportation Operations and FDOT JPA FM # 432208-1-58-01.

Please contact Brent Morris P.E., Project Manager if you have any questions regarding the attached documents.

Thank you for your continued assistance.

JS/b cc:	Ron Schulhofer, Director, Public Works Sia Mollanazar, P.E., Deputy Director, Engineering Services Sage Kamiya, P.E., Deputy Director, Traffic Management Brent Morris P.E., Project Manager Chris Mowbray P.E., Division Manager, Highway Engineering Project File: 0020708 9.2	PURCHASING	38 8 M H 300 H 103	WANATEE COUNTY
	Public Works Department Project Management Division 1022 26th Avenue East, Bradenton, FL 34208-3926 Phone number: (941) 708-7450	÷		

 LARRY BUSTLE * MICHAEL GALLEN * JOHN R. CHAPPIE * ROBIN DISABATINO * VANESSA BAUGH * CAROL WHITMORE * BETSY BENAC

 District 1
 District 2
 District 3
 District 4
 District 5
 District 6
 District 7

 C:\Users\bmorris\AppData\Local\Temp\ootesA0E3B2\2014 Recommendation for Award IFB Fully Funded MemoITS.docx
 C
 C

Page 2

IFB #14-1291 – Braden Avenue to General Spaatz Blvd., Fiber Optic Interconnect Cable (FM#432208-1-58-01) Four (4) bids were received:

Hillsborough County	Bid Based on 150 Calendar Day Completion Time
Traffic Control Products of Florida, Inc., Tampa, FL Highway Safety Devices, Inc., Tampa, FL	\$153,106.69 \$233,435.40
<u>Seminole County</u> Traffic Control Devices, Inc., Altamonte Springs, FL	\$164,164.00
Duval County American Lighting & Signalization, Inc.	\$163,900.50

On July 31, 2014, memorandum received from Project Management Division recommending award to the lowest responsive, responsible bidder, Traffic Control Products of Florida, Inc., in the amount of \$153,106.69, based on a completion time of 150 calendar days.

On August 18, 2014, email received from Rick Arico, P.E., Senior Roadway Engineer for FDOT approving the County's recommendation to award the project to Traffic Control Products of Florida, Inc., Tampa, FL.

Funding Source for this project is Transportation Operations, and FDOT JPA FM#432208-1-58-01.

S:\Olga Valcich\PublicWorks.Proj.Mgmt\IFB.FY.2014\IFB#14-1291-OV.FO.INTERCONNECT.US41 FROM BRADEN TO GEN.SPAATZ.BLVD\Intent to Award MasterIFB #14-1291-OV.8.25.2014..docx





Fw: Recommendation for Award - JPA FM#432208-1-58-01 Michael Sturm to: Olga Valcich Cc: Barbara Green

08/19/2014 08:50 AM

Olga, here is the approval e-mail you requested with the corrected vendor information.

Thanks,

Mike

Michael L. Sturm, P.E. Project Manager Manatee County Public Works 1022 26th Avenue East Bradenton, FL. 34208 Ph. (941) 708-7450 ext. 7332 Cell (941) 256-6722 ----- Forwarded by Michael Sturm/MCG on 08/19/2014 08:48 AM -----

From:	"Arico, Richard" <richard.arico@dot.state.fl.us></richard.arico@dot.state.fl.us>
To:	"barbara.green@mymanatee.org" <barbara.green@mymanatee.org></barbara.green@mymanatee.org>
Cc:	"michael.sturm@mymanatee.org" <michael.sturm@mymanatee.org>, "Miracola, Karen"</michael.sturm@mymanatee.org>
	<karen.miracola@dot.state.fl.us></karen.miracola@dot.state.fl.us>
Date:	08/19/2014 08:32 AM
Subject:	RE: Recommendation for Award - JPA FM#432208-1-58-01

Hello Barbara,

The Department is in agreement with the recommendation to award the contract to Traffic Control Products of Florida, Inc. Once you have an executed contract, please provide it to us for our files. Also, please be sure I am invited to the pre-construction conference. Since this project is on the State Highway System, you will need to invite Tanya Merkle from the FDOT Sarasota Operations Center as well. Her number is (941) 359-7371 and email is <u>tanya.merkle@dot.state.fl.us</u>

Sorry for the confusion with the Contractor's official name. Also, please note the new person to contact at the Sarasota Operations Center for the pre-construction meeting.

Thank you,

Rick

Richard Arico, P.E. Senior Roadway Engineer

Kisinger Campo & Associates on behalf of The Florida Department of Transportation District One, Southwest Area Office at the SWIFT SunGuide Center 10041 Daniels Parkway, Fort Myers, FL 33913

(239) 225-1973, Fax: (239) 225-1957

IFB #14-1291-OV US41 (Tamiami Trail) from Braden Ave. to Gen. Spatz Blvd., Fiber Optic Cable, FDOT JPA FM # 432208-1-58-01

tem No.	FDOT Item No.	Bid Item 150 Calander Days	QTY	UNITS	Traffic Control Products of Florida Inc. Unit Cost	Traffic Control Products of Florida Inc. Ex. Cost	American Lighting and Signalization Inc. Unit Cost	*American Lighting and Signalization Inc. Ex. Cost	Traffic Control Devices Inc. Unit Cost	Traffic Control Devicess Inc. Ex. Cost	Highway Safety Devices Inc. Unit Cost	
1	101-1	MOBILIZATION	1	LS	4565	\$4,565.00	\$18,000.00	\$18,000.00	14000	\$14,000.00	39000	\$39,000.00
2	102-1	MAINTENANCE OF TRAFFIC	1	LS	5488	\$5,488.00	\$8,000.00	\$8,000.00	10000	\$10,000.00	40000	\$40,000.00
3	555-1-1	DIRECTIONAL BORE, LESS THAN 6"	4150	LF	\$14.24	\$59,096.00	\$13.50	\$56,025.00	\$11.50	\$47,725.00	\$15.00	\$62,250.00
4	670-5-410	TRAFFIC CONTROLER ASSY (MODIFY)(NEMA)	2	AS	\$747.00	\$1,494.00	\$1,000.00	\$2,000.00	\$2,580.00	\$5,160.00	\$1,200.00	\$2,400.00
5	783-1-123	ITS FIBER OPTIC CABLE (F& I) (UG) (72SM)	3250	EA	\$3.11	\$10,107.50	\$1.85	\$6,012.50	\$2.20	\$7,150.00	\$2.40	\$7,800.00
6	783-1-123	ITS FIBER OPTIC CABLE (F& I) (UG) (96SM)	1380	EA	\$3.15	\$4,347.00	\$2.25	\$3,105.00	\$2.40	\$3,312.00	\$2.60	\$3,588.00
7	783-2-31	ITS FIBER OPTIC CONNECTION (INSTALL) (SPLICE)	168	EA	\$50.30	\$8,450.40	\$40.00	\$6,720.00	\$42.00	\$7,056.00	\$47.00	\$7,896.00
8	783-2-32	ITS FIBER OPTIC CONNECTION (INSTALL) (TERMINATION)	168	EA	\$68.75	\$11,550.00	\$45.00	\$7,560.00	\$66.00	\$11,088.00	\$74.00	\$12,432.00
9	783-3-11	ITS FIBER OPTIC CONNECTION HARDWARE (F&I) (SPLICE ENCLOSURE)	2	EA	\$850.00	\$1,700.00	\$600.00	\$1,200.00	\$750.00	\$1,500.00	\$840.00	\$1,680.00
		ITS FIBER OPTIC CONNECTION HARDWARE (F&I) (SPLICE TRAY)	14	EA	\$92.00	\$1,288.00	\$100.00	\$1,400.00	\$78.00	\$1,092.00	\$87.00	\$1,218.00
11	783-3-15	ITS FIBER OPTIC CONNECTION HARDWARE (F&I) (PRETERM. PATCH PANE	2	EA	\$3,127.00	\$6,254.00	\$1,000.00	\$2,000.00	\$2,875.00	\$5,750.00	\$3,200.00	\$6,400.00
12	783-3-16	ITS FIBER OPTIC CONNECTION HARDWARE (F&I) (FIELD TERM. PATCH PAI	2	EA	\$3,642.00	\$7,284.00	\$3,500.00	\$7,000.00	\$3,325.00	\$6,650.00	\$3,700.00	\$7,400.00
13	783-5-1	ITS PULL BOX FOR FIBER OPTIC CABLE (F&I)	5	EA	\$1,187.00	\$5,935.00	\$3,000.00	\$15,000.00	\$2,185.00	\$10,925.00	\$1,650.00	\$8,250.00
14	783-6-1	ITS SPLICE BOX FOR FIBER OPTIC CABLE (F&I)	1	EA	\$3,286.00	\$3,286.00	\$4,000.00	\$4,000.00	\$3,005.00	\$3,005.00	\$3,700.00	\$3,700.00
15	785-2-192	ITS FIELD CABINET (F&I) (SPECIAL) (GROUND MOUNT)	1	EA	\$8,343.00	\$8,343.00	\$11,000.00	\$11,000.00	\$14,827.00	\$14,827.00	\$8,200.00	\$8,200.00
16	999-25	FIELD DIRECTIVE WORK	LS		\$13,918.79	\$13,918.79	\$14,900.50	\$14,900.50	\$14,924.00	\$14,924.00	\$21,221.40	\$21,221.40
			Tota	I Constr	uction Cost	\$153,106.69		\$163,923.00		\$164,164.00		\$233,435.40

*Mathematical Errors have been corrected in accordance with Article A.28 of the Invitation for Bld.

r 7/31/14 D. Valent 8/4/14